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Forces on an Incline Practice

For each of the situations below, draw a proper free body diagram and use effective summation equations.
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1. A 25 kg box is placed upon a 30° frictionless incline. Determine the acceleration down the ramp. 4.9 m/s2
2. A 50 kg box is placed on a 45° incline that has a coefficient of friction of 0.25. Determine the acceleration down the ramp. 5.2 m/s2
3. A 15 kg box is placed on a ramp and begins to move when the angle of the ramp increases to 37°. Determine the coefficient of static friction between the box and the ramp. 0.75
4. A 20 kg box accelerates down a 30° ramp at 1.6 m/s2. Determine the coefficient of friction between the box and the ramp.  0.39
5. A 40 kg block is pulled up a frictionless 30° incline at a constant velocity.  What is the force applied to pull the cart up the incline? 196 N
6. A 10 kg block is pulled up a 37° incline with a coefficient of kinetic friction of 0.25 at a constant velocity.  What is the force applied to pull the cart up the incline? 78.55 N
7. A 12 kg block is pulled up a 45° incline that has a coefficient of kinetic friction of 0.32 while accelerating at 1.6 m/s2.  What is the force applied to pull the cart up the incline? 128.97 N
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